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BUEIRMETE ()
miE Hifi/E&E =11 E=E

m FH FH
BEIE
INERR
B R IA 2040 30|= 61,200
EiRaEidHY 450 40[= 18,000
fiR{K 1500 35|= 52,500
KB 566 35|= 20,000
HE 900 35|= 31,500
WIELE
LR 2040 350[= 714,000
R T B33 (3F8) 210 400]= 84,000
ETE .
INER - SR 3800 4000[= 1,520,000
AEE-7—I 1250 4000]= 500,000
S 1830 200%1.1]|= 402,600
23 = 3,403,800
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HEARMEE(F)' _
miE __|Bl|/miE &t e

m FH FH
fFEAIE
INERR 3,990 35]= 340,000
AEE 586 35|= 20,500
h#E 900 35(= 31,500
BIEISE ,
INER - G E 6,050 [ 400]= 2,420,000
HKBE-J—I 1,360 -400|= 544,000
& 1,830 200%0.9]= 329,400

e
Ry =1

3,685,400
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